STEERING & SUSPENSION PARTS

Ajuo sasodind uolrewuIoUl 10§ PasN BJ. JUSWND0P SIY3 Ul papn|oul elep pue siaquwinu yied ‘suondussep jonpoid ||y
IPI|dBWE |B]1q 929pES 19|119A dA Iie|BIEWNU B IEd ‘Liejewue)yide unin wny Iepuewnyop ng %

SINALI M3N



A T=
\; i EE,N(GNQEH I

TEKNOROT REF: A-10182
Lateral Arm

~—

Weight: 1416  Length: 4475

MODEL NO BODY CODE

A5 F53-F57

TEKNOROT REF: A-10192
Lateral Arm

™

Weight: 1416  Length: 4475

MODEL NO BODY CODE

A5 F53-F57

YEAR

2016-

YEAR

2016-

ADAPTABLEFOR ALJDI

DIRECTIONS

Rear Right Upper
Rearward

OEMNO

8WO505596F, 8W0505398C

ADAPTABLEFOR ALJDI

DIRECTIONS

Rear Left Upper
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

8WUO505397F, 8W06055397C



/
1\} i Eﬁgﬂgﬁg I

TEKNOROT REF: A-10282
Lateral Arm

e ———

Weight: 0683  Length: 4475

MODEL NO BODY CODE
A4 B3
COMPONENTS NUMBER
@ 561091

TEKNOROT REF: A-10282
Lateral Arm

[ —— ]

Weight: 0683  Length: 4475

MODEL NO BODY CODE
A5 F53-F57
COMPONENTS NUMBER
@ SB 1091

YEAR

2015-

NAME

YEAR

2016-

NAME

ADAPTABLEFOR ALJDI

bruary

DIRECTIONS

Rear Right Lower

DIRECTIONS

OEMNO

8W05015300

OEMNO

ADAPTABLEFOR ALJDI

DIRECTIONS

Rear Right Lower

DIRECTIONS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

8W05015300

OEMNO



/
1\} i Eﬁgﬂgﬁg I

TEKNOROT REF: A-10292
Lateral Arm

:

Weight: 0683  Length: 4475

MODEL NO BODY CODE
A4 B3
COMPONENTS NUMBER
@ 561091

TEKNOROT REF: A-10292
Lateral Arm

e —

Weight: 0683  Length: 4475

MODEL NO BODY CODE
A5 F53-F57
COMPONENTS NUMBER
@ SB 1091

YEAR

2015-

NAME

YEAR

2016-

NAME

ADAPTABLEFOR ALJDI

bruary

DIRECTIONS

Rear Left Lower

DIRECTIONS

OEMNO

8W05015250

OEMNO

ADAPTABLEFOR ALJDI

DIRECTIONS

Rear Left Lower

DIRECTIONS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

8W0501528D

OEMNO



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. AF-411

Steering Tie Rod End

4
Wiy
¥

¥

Weight: 0369  Length: 137  Bolt Metric. M12X1,75  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

GIULIA 2015- Front

TEKNOROT REF: B-1016A
Suspension Stabilizer Bar Link metal type

- -

-

Weight: 0477  Length: 335  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS

M3 2007-2013 Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR AL FA ROMEQ

OEMNO

/7367925

ADAPTABLEFOR BMW

OEMNO

31352283442



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. B-1016A ADAPTABLEFOR BMW
Suspension Stabilizer Bar Link metal type

s —

-

Weight: 0477  Length: 335  Bolt Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
M1 2007-2013 Front Right 313522683442
TEKNOROT REF: B-1017A ADAPTABLEFOR BMW
Suspension Stabilizer Bar Link metal type

e &

Weight: 0477  Length: 335  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

M3 2007-2013 Front Left 3183522685441

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeCNOROT

STEERING &8 SUSPENSION PARTS

p7
®

TEKNOROT REF. B-1017A
Suspension Stabilizer Bar Link

&

Weight: 0477  Length: 335  Bolt Metric: M10X1,5
MODEL NO BODY CODE
M1

TEKNOROT REF: B-153K
Steering Tie Rod Kit

Weight: 0,768 Length: 246  Bolt Metric: M14X1,5

MODEL NO BODY CODE

I-SERIES

ADAPTABLEFOR BMW/
metal type
YEAR DIRECTIONS OEMNO
2007-2013 Front Left 31352283441
ADAPTABLEFOR BMW/

wy/accessories-TRW
STEERING GEAR

Housing Metric: M18X1,5

YEAR DIRECTIONS

OEMNO

2005-2011 Front 32106782252

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: B-183K ADAPTABLEFOR BMW

Steering Tie Rod Kit w/accessories-ZF
STEERING GEAR

Weight: 0728  Length: 256  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO

3-SERIES 2005-2011 Front 32106765234
TEKNOROT REF. M-740 ADAPTABLEFOR MERCEDES
Suspension Ball Joint

Weight: 0439

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

100 WB31 1988-1996 Front Lower 6313200028

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




4 ) TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: M-1004 ADAPTABLEFOR MERCEDES
Suspension Ball Joint

T
?

Weight: 0384  Length: 845  Bolt Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
X-CLASS W470 2017- Front Upper 4703301300% 4703301500*
TEKNOROT REF: M-1021 ADAPTABLE FOR MERCEDES
Steering Tie Rod End
A

;

Weight: 0759  Length: 183  Bolt Metric: M14X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

X-CLASS w470 2017- Front Right 4704604800~

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




4 ) TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: M-10211023 ADAPTABLEFOR MERCEDES
Steering Tie Rod Assembly

Weight: 1626  Length: 334  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
X-CLASS W470 2017- Front Right 4704604800*
TEKNOROT REF: M-1022 ADAPTABLE FOR MERCEDES
Steering Tie Rod End
®

Weight: 0759  Length: 183  Bolt Metric: M14X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

X-CLASS w470 2017- Front Left 4704604800~

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



§ =noenT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: M-10221023 ADAPTABLEFOR MERCEDES
Steering Tie Rod Assembly

b

e —— =

Weight: 1626  Length: 334  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
X-CLASS W470 2017- Front Left 4704604800*
TEKNOROT REF: R-1006 ADAPTABLEFOR RENAULT
Suspension Stabilizer Bar Link 4X4
YEAR ONLY
2001-2008
Weight: 0281 Length: 130
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
KANGOO / 1998-2008 Rear 7700436706

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




Py
\) TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. §B 1223

control Arm Bushing

Weight: 0314

Length: 70

MODEL NO

CRAFTER

COMPONENTS

¥
5

Heavy duty

BODY CODE YEAR DIRECTIONS
i 2017- Front Lower
Outer
NUMBER NAME DIRECTIONS
V-1019 COonrolAMM 81| c-one ) oft 1 ower

Ball Joint Assy

TEKNOROT REF: 8B 1224

Control Arm Bushing

Weight: 0218  Length: 534

MODEL NO

FIESTA

COMPONENTS

—
=,

ADAPTABLEFOR OLKSWAGEN

OEMNO

2NO407152F, 2NO407151F*

OEMNO

2ZNO407152F

2ZNO407151F

ADAPTABLEFOR FORD

BODY CODE YEAR DIRECTIONS
IV 2017- Front Lower
Inner
NUMBER NAME DIRECTIONS
Fo-1099 | COTIOIAIMAND | on) ottt ower

Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

HIBC3042A0%, HIBC3051A0*

OEMNO

H1BC3042A0

H1BC3051A0



TEKNOROT REF: 8B 1231
Uantra( Arm Bushing /’

N
“e

&

il

& i o<"" &
0 o

Z & .

,\40«, fé‘ ; &

Weight: 0299  Length: 70

CRAFTER I 2017- Fr UZZ Ltg;”er ONO407152/% INOAD7151)*

r 3 ControlArmand | Front Right
V10181 Ball Joint Assy Lower NO407152)
' Control Arm &
‘ V-10191 Ball oint Assy Front Left Lower 2ZN0O407151J

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 12




(; TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 88 1233
Uantra( Arm Bushing /’

iO Py 2 B

Weight: 0223  Length: 70

CRAFTER I

2017-

2020 February
o owmasn VOLKSWAGEN

Heavy duty

Front Lower
Inner

2NO407152F, 2NO407151F*

r V-10161 ngmﬁlf%?s’;d Font ot ONO407152)
1 V-10191 ggm 0”/7 ?;”;S?/ Front Left Lower INO407151J
I
1 V-1019 ng%ﬁ%i’;d Front Left Lower ONO407151F

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com



TEKNOROT REF.: §B 1280 ADAPTABLEFOR MERCEDES
Control Arm Bushing ONLY FOR 109/111

Weight: 061 Length: 1065

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower .
viTo W47 2014- Outer 4473303500

COMPONENTS NUMBER NAME DIRECTIONS OEMNO

M-1018 Domrq/ Arm & Front Right 4473303500
Ball Joint Assy Lower

M-1019 Control AMM & | v ot ower 4473303400
Ball Joint Assy

TEKNOROT REF: §B 1294 ADAPTABLEFOR (JPEL
Control Arm Bushing

Weight: 0229  Length: 103

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
HARL ci6 2015- o ower 95368368*, 95368367+
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o
‘\ 0-989 ngﬂﬁ%i’;d Front Left Lower 95368367

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: 8B 1295
control Arm Bushing

Weight: 068 Length: 545
MODEL NO BODY CODE YEAR DIRECTIONS
Front Lower
KARL Cl6 2015- Outer
COMPONENTS NUMBER NAME DIRECTIONS
r"" ) ControlArmand | Front Right
0-966 Ball Joint Assy Lower
. Control Arm and
* 0-989 Ball Joint Assy Front Left Lower
TEKNOROT REF. V-733K

T

Weight: 0677 Length: 177  Bolt Metric: M16X1,5  Housing Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
TRANSPORTER 76 2016- Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ruary

ADAPTABLEFOR (JPEL

OEMNO

953683667, 95366367

OEMNO

953568568

95368367

ADAPTABLEFOR OLKSWAGEN

OEMNO

7HO422831



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: VO-843 ADAPTABLEFOR VOL VO
Steering Tie Rod

L

Weight: 059 Length: 191  Bolt Metric. M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
XC60 I 2017- Front 31429234
TEKNOROT REF: VO-843 ADAPTABLEFOR VOL VO
Steering Tie Rod

Weight: 059 Length: 191  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XC90 2nd Gen 2015- Front 31429234

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: VO-843 ADAPTABLEFOR VOL VO
Steering Tie Rod

e

Weight: 059 Length: 191  Bolt Metric. M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
590 2016- Front 31429234
TEKNOROT REF: H-1063 ADAPTABLEFOR ISUZUS
Steering Tie Rod YEAR ONLY
1998-2004

Weight: 072  Length: 313  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RODEO 1981-2004 Front Inner 8971704350

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-1033 ADAPTABLEFOR MISSAN
Steering Tie Rod

2 e ——,

Weight: 051 Length: 224  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
MAXIMA A35 2009-2014 Front 485219NO0A
TEKNOROT REF: N-1041 ADAPTABLEFOR NSSAN
YEAR ONLY

2010-2017

lﬁw

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

JUKE 2010- Front Right DB852035G1A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-1041 ADAPTABLEFOR NISSAN

Steering Tie Rod End YEAR ONLY

2010-2018

)

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
LEAF 2010- Front Right DB852035G1A
TEKNOROT REF: N-1041 ADAPTABLEFOR MISSAN
Steering Tie Rod End

1@6

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SENTRA 2013-2018 Front Right D852035G1A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: N-1041 ADAPTABLEFOR MISSAN
Steering Tie Rod End

)

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
NV200 2013- Front Right D852035G1A
TEKNOROT REF: N-1042 ADAPTABLEFOR NSSAN
YEAR ONLY

2010-2017

]

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

JUKE 2010- Front Left D864035G1A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: N-1042

Steering Tie Rod End YEAR ONLY
2010-2018

ADAPTABLEFOR NIISSAN

r |

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LEAF 2010- Front Left D864035G1A
ADAPTABLEFOR NIJSSAN

TEKNOROT REF: N-1042
Steering Tie Rod End

®,
®:
e

Length: 192  Bolt Metric: M10X1,25

Weight: 0676 Housing Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

D864035G1A

SENTRA 2013-2018 Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: N-1042
Steering Tie Rod End

ADAPTABLEFOR NIISSAN

r |

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

D864035G1A

NV200 2013- Front Left

TEKNOROT REF: T-10181 ADAPTABLEFOR TOYOTA

Suspension Control Arm and
Ball Joint Assembly

Length: 4033  Bolt Metric: M14X1,5

Weight: 4,798 =
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CH-R 1stGen 2016- Front Right 48068F4010
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
w P05 | paon | pom | 4000008530 4333045085
561274
5B1275

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-10181S ADAPTABLEFOR TOYOTA

2} “N—

Suspension Control Arm

Weight: 3985  Length: 4033

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CH-R 1stGen 2016- Front Right 48068F4010*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
S5B1274
5B1275

TEKNOROT REF: T-10191

Suspension Control Arm and
Ball Joint Assembly

&z

Weight: 4798  Length: 4033  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CH-R 1st Gen 2016- Front Left 48069F4010
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
w P05 | paon | pom | 4000008530 4333045085
561274
5B1275

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. T-10191S8
Suspension Control Arm

Weight: 39865

Length: 4033

MODEL NO BODY CODE
CH-R 1stGen
COMPONENTS NUMBER
SB 1274
SB 1275

TEKNOROT REF: T-10192
Lateral Arm

>—2

Weight: 103 Length: 463
MODEL NO BODY CODE
AVENSIS (T22]

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2016-

NAME

YEAR

1997-2003

DIRECTIONS

Front Left

DIRECTIONS

ADAPTABLEFOR TQYOTA

=

&

480659F4010*

OEMNO

ADAPTABLEFOR TQYOTA

DIRECTIONS

Rear

OEMNO

48768005020



TEKNOROT REF: CD-203
Steering Tie Rod

= eer— s

Weight: 067  Length: 232  Bolt Metric: M16X1,5  Housing Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
ATS 2013- Front Inner
TEKNOROT REF: CD-207
Steering Tie Rod w/accesorries

- e,
()

Weight: 0,704  Length: 335  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

SRX 2nd Gen 2010-2016 Front Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ary

ADAPTABLEFOR CADILLAC

OEMNO

22769023

ADAPTABLEFOR CADILLAC

OEMNO

26801292



TEKNOROT REF. CD-213 ADAPTABLEFOR GADILLAC
Steering Tie Rod RWD, Base Model

e T

Weight: 066  Length: 274  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CcT7S 2nd Gen 2008-2014 Front Inner 19177440
TEKNOROT REF. CD-226 ADAPTABLE FOR CAD/LLAG'
1SI0n ilizer Bar Link £ ' -
Suspension Stabilizer Ba YEAR ONLY
1997-1999
3
Weight: 0435 Length: 276  Bolt Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DEVILLE 7th Gen 1994-1999 Front 25635886

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CD-226
Suspension Stabilizer Bar Link

YEAR ONLY
1997-2002
2
Weight: 0435 Length: 276  Bolt Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
ELDORADO 12th Gen 1992-2002 Front

TEKNOROT REF: CH-1018

Suspension Control Arm and
Ball Joint Assembly

P

Weight: 5167 Length: 410  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR
SILVERADO 2500 2nd Gen 2011-2018
COMPONENTS NUMBER NAME

A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

Front Upper

DIRECTIONS

Front Upper

bruary

ADAPTABLEFOR CADILLAC

OEMNO

25635866

ADAPTABLEFOR CHEVROLET

OEMNO

20924215

OEMNO

20924215*



TEKNOROT REF: CH-1018 ADAPTABLEFOR CHEVROLET

Suspension Control Arm and
Ball Joint Assembly

Weight: 5167  Length: 410  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADD 3500 2nd Gen 2011-2018 Front Upper 20924215
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
: | SB 1332 COE;Z g %’ﬁ; m Front Upper 20924215*
TEKNOROT REF: CH-1018 ADAPTABLEFOR GMIC'
Suspension Control Arm and

Ball Joint Assembly

Weight: 5167 Length: 410  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SIERRA 2500 2nd Gen 2011-2018 Front Upper 20924215
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

::9 5B 1332 ngg %’ﬁg M Front Upper 20924215+

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. CH-1018 ADAPTABLEFOR GMIC'

Suspension Control Arm and
Ball Joint Assembly

Weight: 5167  Length: 410  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SIERRA 3500 2nd Gen 2011-2018 Front Upper 20924215
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
:3 SB 1332 C’jégg %’ﬁ; m Front Upper 20924215*
TEKNOROT REF.: CH-381 ADAPTABLEFOR CHEVROLET
Steering Tie Rod 4X4

Weight: 0633  Length: 179  Bolt Metric: M12X1,25  Housing Metric: M17X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ASTRO Znd Gen 1995-2005 Front Outer 26057017, 26015459

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF: CH-381 ADAPTABLEFOR GMIC'
Steering Tie Rod 4X4

Weight: 0633 Length: 179  Bolt Metric: M12X1,25  Housing Metric: M17X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SAFAR/ 2nd Gen 1995-2005 Front Outer 26057017, 26015459
TEKNOROT REF: FO-1088 ADAPTABLEFOR ORI
Suspension Control Arm and For SVT RAPTOR
Ball Joint Assembl|
7 4 YEARONLY |
2010-2014 gt 1 5
Weight: 4315  Length: 346  Bolt Metric: M14X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3 . Front Right
F-150 12th Gen 2009-2015 Upper AL373084B
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. SB 1345 CONOLAIM | oot Unper AL373084B* AL3Z30858*
‘¢S Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




SNTXNOROT

/\) STEERING &8 SUSPENSION PARTS ruary

TEKNOROT REF: FO-1089 ADAPTABLEFOR ORI
Su/s/pens/on E’ontbr/U/ Arm and For SVT RAPTOR
Ball Joint Assem
Y o YEARONLY |
) 2010-2014
Weight: 4315  Length: 346  Bolt Metric: M14X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-150 12th Gen 2009-2015  Front Left Upper AL373085B
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e SB 1345 control Arm Front Upper AL373084B* AL3Z30685B*
&g Bushing
TEKNOROT REF: FO-1095 ADAPTABLEFOR ORI
Suspension Ball Joint
>
s 5
Weight: 0655 Length: 1015  Bolt Metric: 14G 7/8 UNF
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXCURSION 2000-2005 Front Lower BC3730508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1095 ADAPTABLEFOR FORD
Suspension Ball Joint o IR

Weight: 0655 Length: 1015  Bolt Metric: 14G 7/8 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-250 SUPER DUTY 1st Gen 19599-2007 Front Lower BC3730508
TEKNOROT REF: FO-1095 ADAPTABLEFOR ORI
Suspension Ball Joint

>
=

Weight: 0855 Length: 1015  Bolt Metric: 14G 7/8 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY 2nd Gen 2008-2010 Front Lower BC3730508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: FO-1095 ADAPTABLEFOR FORD
Suspension Ball Joint =g

Weight: 0655 Length: 1015  Bolt Metric: 14G 7/8 UNF

|
|
[
-2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-250 SUPER DUTY 3rd Gen 2011-2016 Front Lower BC3730508
TEKNOROT REF: FO-1095 ADAPTABLEFOR ORI
Suspension Ball Joint

Weight: 0855 Length: 1015  Bolt Metric: 14G 7/8 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-350 SUPER DUTY 1stGen 1999-2007 Front Lower BC3730508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ; TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1095 ADAPTABLEFOR FOIRL)
Suspension Ball Joint Ty,

Weight: 0655 Length: 1015  Bolt Metric: 14G 7/8 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-350 SUPER DUTY 2nd Gen 2008-2010 Front Lower BC3730508
TEKNOROT REF: FO-1095 ADAPTABLEFOR ORI
Suspension Ball Joint

Weight: 0855 Length: 1015  Bolt Metric: 14G 7/8 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-350 SUPER DUTY 3rd Gen 2011-2016 Front Lower BC3730508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



G =NoRaT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1107 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link AWD T

YEAR ONLY
2005-2007
Hﬂ
Weight: 0816 Length: 16855  Bolt Metric: M14X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY IstGen 1999-2007 Front B6C375K483AA, 5U375K483AA
TEKNOROT REF: FO-1107 ADAPTABLEFOR ORI
Suspension Stabilizer Bar Link 4AWD
YEAR ONLY
_ 2005-2007
Hﬂ
Weight: 06816 Length: 16855  Bolt Metric: M14X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY 1st Gen 1999-2007 Front B60375K483AA, 50375K483AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
{5 TXNOROT

O February

TEKNOROT REF: FO-1136 SOAPTABLEFOR FORID)
Suspension Stabilizer Bar Link RWD
YEAR ONLY
ﬁ i 1999-2004
Weight: 0551 Length: 174
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-350 SUPER DUTY 1stGen 1999-2007 Front YC3Z5K483AA
TEKNOROT REF: FO-1136 ADAPTABLEFOR ORI
Suspension Stabilizer Bar Link RWD Iy
Weight: 0551  Length: 174 ;
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-250 SUPER DUTY 3rd Gen 2011-2016 Front YO3Z5K483AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1136 ADAPTABLEFOR FOR[D
Suspension Stabilizer Bar Link RWD

s

Weight: 0551 Length: 174

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY 2nd Gen 2008-2010 Front YC3Z5K483AA
TEKNOROT REF: FO-1136 ADAPTABLEFOR ORI
Suspension Stabilizer Bar Link RWD

YEAR ONLY
E i 1999-2004
Weight: 0551  Length: 174
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY Ist Gen 1999-2007 Front YOC375K483AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: FO-1136 ADAPTABLEFOR FOR[D
Suspension Stabilizer Bar Link RWD

s

Weight: 0551 Length: 174

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXCURSION 2000-2005 Front YC3Z5K483AA
TEKNOROT REF: FO-1143 ADAPTABLEFOR ORI
Steering Tie Rod

el

Weight: 065 Length: 373  Bolt Metric: M14X1,5  Housing Metric: M24X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FREESTAR 3rd Gen 2004-2007 Front Inner 3F273280AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. FO-1143 ADAPTABLEFOR MERCURY
Steering Tie Rod

Iﬁ

Weight: 065 Length: 373  Bolt Metric: M14X1,5  Housing Metric: M24X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MONTEREY 2004-2007 Front Inner 3F2Z5280AA
TEKNOROT REF: FO-1153 ADAPTABLEFOR ORI
Steering Tie Rod

@

Weight: 058  Length: 256  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXPLORER SPORT TRAC 1st Gen 2001-2006 Front Inner 1L573280AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. FO-1196 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link 150-250-350, for Usa

Weight: 0461 Length: 290  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TRANSIT 2015- Front BK275K484A
TEKNOROT REF: FO-1341 ADAPTABLEFOR ORI
Steering Tie Rod End 4x2 w/accessories P

=
/7@
IJ

Weight: 2334  Length: 422  Bolt Metric: M16X15  Housing Metric: 13/8"16 UN

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-350 SUPER DUTY 2nd Gen 2008-2010  Front Left Inner ACBZ3A131IMA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



§ =noenT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. FO-1341 ADAPTABLEFOR FORD
Steering Tie Rod End 4x2 w/accessories

Weight: 2334  Length: 422  Bolt Metric.: M16X1,5  Housing Metric.: 13/8"16 UN

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY 2nd Gen 2008-2010  Front Left Inner AC3Z3A131IMA
TEKNOROT REF: H-1063 ADAPTABLEFOR HONLDA
Steering Tie Rod

Weight: 072  Length: 313  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PASSPORT 1998-2002 Front Inner 8971704350

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. JE-341 ADAPTABLEFOR _JEEP
Steering Tie Rod End

Weight: 0425  Length: 135  Bolt Metric: M10X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

COMPASS 2016- Front Right 66351148AA, 668273357AE*
TEKNOROT REF: JE-342 ADAPTABLEFOR _JEEP
Steering Tie Rod End

&

Weight: 0425  Length: 135  Bolt Metric: M10X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

COMPASS 2016- Front Left 668551149AA, 68273357AE*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. JE-346 ADAPTABLEFOR JODGE
Lateral Arm

QH

Weight: 0693 Length: 165

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Rear Lower
CALIBER 2007-2015 Forward 5106270AD
TEKNOROT REF: JE-346 ADAPTABLEFOR _JEEP
Lateral Arm

QH

Weight: 0693  Length: 165

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
PATRIOT 2007-2015 Forward 5105270AD

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: JE-346 ADAPTABLEFOR _JEEP
Lateral Arm

QH

Weight: 0693 Length: 165

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Rear Lower
COMPASS MK49 2006-2015 Forward 5106270AD
TEKNOROT REF: JE-347 ADAPTABLEFOR _JEEP

Suspension Stabilizer Bar Link

Weight: 0236  Length: 42  Bolt Metric: MEX1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CHEROKEE 2nd Gen, XJ 1984-2001 Rear 52001094

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-1041 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End

)

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CITY EXPRESS 2015- Front Right DB852035G1A
TEKNOROT REF: N-1042 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End

®,
=
e

Weight: 0676 Length: 192  Bolt Metric: M10X1,25  Housing Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CITY EXPRESS 2015- Front Left D864035G1A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: RA-103 ADAPTABLEFOR HAM
Steering Tie Rod

= 4‘;&—.-‘-&:*

Weight: 099 Length: 375  Bolt Metric: M16X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1500 2013-2018 Front Inner 68166678AA
TEKNOROT REF: RA-103 ADAPTABLEFOR RAM
Steering Tie Rod

Weight: 099 Length: 375  Bolt Metric: M16X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

1500 2019- Front Inner 68166678AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF.: §B 1345

control Arm Bushing For SVT RAPTOR
- YEAR ONLY
9 2010-2014
Weight: 0318 Length: 62
MODEL NO BODY CODE YEAR DIRECTIONS
F-150 12th Gen 2009-2015 Front Upper
COMPONENTS NUMBER NAME DIRECTIONS
P, suspension ,
’ FO-1088 Control Arm and FHZ[;[ /?E/)g;]ht
Ball Joint -
R Suspension
FO-1089 Control Arm and | Front Left Upper
Ball Joint
TEKNOROT REF: 8B 1362
Control Arm Bushing
Weight: 0601 Length: 80
MODEL NO BODY CODE YEAR DIRECTIONS
CHEROKEE KJ 2001-2008 Front Lower
COMPONENTS NUMBER NAME DIRECTIONS
. ControlArmand | Front Right
.} JE-135 Ball Joint Assy Lower
Control Arm and
{ JE-139 Ball Joint Assy Front Left Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

AL3Z3084B%, AL3250656*

OEMNO

AL573084B

AL373085B

ADAPTABLEFOR _JEEP

OEMNO

62088636A0%, 52088637A0*

OEMNO

52086656A0

520868657AD



§ =noenT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1362 ADAPTABLEFOR _JEEP
control Arm Bushing

Weight: 0601 Length: 80

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
LIBERTY KJ 2001-2008 Front Lower 62088636A0%, 62088637A0*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
. ControlArmand | Front Right
.} JE-138 Ball Joint Assy Lower 5206863640
{ 139 | CONIOIAIMAND | o) o ower 5208863740
Ball Joint Assy
TEKNOROT REF: S8 1369 ADAPTABLEFOR _JEEP
Control Arm Bushing

Weight: 0327  Length: 764

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CHEROKEE KJ o001-2008 T Og; fsfe e 52088636A0* 52066637A0"
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
} JE-138 Control Arm and | Front Right 5208563640
Ball Joint Assy Lower
{ JE13g | ConwolArmand | oo o6 ower 5208863740
Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



4 ) TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1369
control Arm Bushing

Weight: 0327  Length: 76,4
MODEL NO BODY CODE YEAR DIRECTIONS
LIBERTY K 2001-2008  TOTELOVEr
Center
COMPONENTS NUMBER NAME DIRECTIONS
. ControlArmand | Front Right
} JE-136 Ball Joint Assy Lower
Control Arm and
{ JE-139 Ball Joint Assy Front Left Lower
TEKNOROT REF: TS-1008
Suspension Control Arm and 4x2

Ball Joint Assembly

Weight: 2423  Length: 316
MODEL NO BODY CODE YEAR DIRECTIONS
MODEL § 2012-2016 7 ‘Z’Z 5@’5 n
DUW#%?MHVHF NUMBER NAME DIRECTIONS
& 75-1004 SUSDQJZ%‘?” B3l Front Upper
5B 1306

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR _JEEP

OEMNO

520668636A0%, 52086637A07

OEMNO

52088656AD

52088637AD

ADAPTABLEFOR TESILA

OEMNO

104396600A

OEMNO

1043966004, 1043965004



TEKNOROT REF: TS-1009 ADAPTABLEFOR TESILA

Suspension Control Arm and 4x2
Ball Joint Assembly

Weight: 2423  Length: 316

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MODEL S 2012-2016  Front Left Upper 6006532004
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ T8-1004 S“SDEJZ%‘;” Ball | tront Upper 1043966004* 1043965004
SB1306

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



